normalized X?

< x2/ndf >

Ratio
-

< x2/ ndf >

Ratio

[ normalized x? probability |

0.05

0.04]

: [Enties 83476
- | Mean 0.5227
Std Dev 03171

g '
I :
x a
o5l
NEREN 0.oE It Il
T8 To i 14 16 1520 0 010203040506070809 1
X2 Prob(x?)
= DQMstep3_TT_CKF
e DQMstep3_TT_default
wmm— DQMistep3_TT_defaultNEWTepo7
L] SERPPRAR Feeees R ERrEn FRR
I T P T LTI PP {
5: A F
a5f 2 18f-
E % 1.6F-
E v E
3.5F 1.4F-
E 12F
25F -
2 o.8f-
1.5E 0.6F
E 0.4F
0.5F 0.2F
3 o O
T
@
0.5
0 -3
10 1072

-1
AR(track, jeltS)



	Contents
	Page 1


